T T CEEILITEHEE 201744 A 24 H ST

1.IUATEE4

KFE  EFM2640m  FEXRH 2645.8m R

2.8/ BERA Vb E2FEATIEN r EHOREZE~

3.41H 201749 H 16 B (&) ~17H (B) "M =—XFIF WX¥L

A FEXNRE LUbkk BEAR 10 ARBE

BX—FT 4 RAH¥>7 | CL : SL: =10 RGE . AT

6. 1T AT 9H 16(X) #4T74:05 /HA KT/ 3:45/ 17H) 5:10
9H 17(8) #475:26 IHA KT v/ 5:05/ 1781 7:20

TGP « K AEAR [HI—H F—@T 6:20

8 fF BRI « e AEAR " 18 : 20 &t&A

9.&H
% 18,900 H/A
1043/ LT

Lo h— (@16,848%X2) =33,696 1 K Z A ,N—&#L(18,000 X 2)=36,000
BREHR(@100 X 360+50/5)=8,200 1 &EEf (5,050+4,790) =9,840 [

FIAL - —FBHEAR 9,870 H 1E1AME 2,000 H  EiAEF@8,300 M X 10=83,000 M
ABHE (@600X10) =6,000 &7 188,606 1 TFiE#E 394 M

1072

[RAiz)

HDoH 5:30
HDAY 17 : 53
ErmzE
20 796m
TV 796m
T BERE
9/16(1+) #6 Km
9/17(A) # 6.4Km

49/16 (+)
TRNEFT====IHa—A N—Ri====BRER IC====8)I|P A=====73} IC
6:20 6:30 7:55 8:45
=====lO% —60— KB —A0— EOWE —50— BHRAME
9 :30-45 10 : 45 - 55 11 : 35-40 12:30—13: 10
KA L, fER
— 60— HIIBEE —15— 29w Il —10— FiliE —0— BHAtavT
14 : 10-20 14 : 35 14 : 45 14 : 55
49/17 (H)
BEEftavyTyr —30— Rl — 30 — KBl — 30— EXMW — 15— BEXRH
6:30 7:00-10 7:40-50 8 :20—30 8 : 45-50
—20 — HKRM — 40— A -30 — EFAtavyT — 45— FERYE
9:10-15 9:55—10: 00 10 : 30-45 11:30-40
—25— N\ FEHlE—30 — KE - 30 — EBOE===LARREXDE
12 : 05-45 13:15-20 13: 50 14 : 10-15: 20
T IC===%AR SA====FREK IC====FEARHHN
15 : 40 17 : 00 18 : 00 18 : 20

11. 22— 24

it

12.1/25000 #FEIK
Z#

L3
irR
=
e

T R =

13.fV &b

I\ EBEHS 0266-73-8550 BHAE = v 7 0266-72-3613

14 3R

EEXG—RX YT )Lh HRAT

1508 A i Yo 7N~ HE, £, TIER, BHESE BB, ~y FIU7+PHEM., 8+, 5. #HEX,
avRR, HEE, KR MAEE), EEES. ETAE. IUEREIE, ERARIE, X yY ., &
AT, FAN, P RUKE, HY, EERR, 1TBR, WK, A by 7, HRE, KA1 vR0,
ay S, xe—Vari—b, B, BETIEDYV LV ITTFTR BRI L— AlEv b

16. &MY H 7TH#lI% T7HS8H 173 6HHIE 6H17TH

18550 H1H MHIAANKIZE s TIA I —ICEFTARZILHLAVET, E2FAL 2y TDRY

413 900 HTY, ¢ABRTEDBILDER—LRXR—VIZREMT, EHRLVVEM
FIEN, BELAWEZTETE, BV ELE




